Chap 8-2       Review Worksheet  3                 Name _______________________ Hr ___

1) Define a Single – Displacement (can also use the name replacement)  Reaction:

one element replaces a similar element in a compound
2) Write the two “skeletons” for a single replacement reaction:

A + BX → AX + B       or     Y + BX → BY + X

**** Make sure when you look at the skeleton reactions above that on one a single cation (positive charge) will replace the cation of the compound. The other one is an anion and it replaces the negative anion in that compound. You can NEVER put two cations or two anions together … same charges repel each other!)
3) Many single replacement rxns happen in what type of solution?

Aqueous solutions
4)  Write a rxn for the following: (in the notes or book)

Replacement of a metal in a compound by another metal:


2Al(s) + 3Pb(NO3)2(aq) → 3Pb(s) + 2Al(NO3)3(aq)

Replacement of Hydrogen in water by a metal:


2Na(s) + 2H2O(L)  →  2NaOH(aq) + H2(g)

Replacement of Hydrogen in an Acid by a Metal:


Mg(s) + 2HCl(aq) → H2(g) + MgCl2(aq)


Replacement of a Halogen by another Halogen:


Cl2(g) + 2KBr(aq) → 2KCl(aq) + Br2(L)

F2(g) + 2NaCl(aq) → 2NaF(aq) + Cl2(s


Notice that the negative ANIONS are replaced in these reactions. Above it 


Is the positive CATIONS. 

